N = 0l & At & Ml A

20194

H
i
2
z
ne
s
ton
!
[l
=

2AM: HE D

B GRS
el ANgHE=SE (Sl & &)
SA - BB B (EH) - NRAY - BES of & o SSa HI D2
TH&E 7,615,635 3,328,155 4,287,480
= 111,772
Al 7,503,863
NFEHE S 683,485 558,335 125,150
= 11,772
Al 571,713
ANeEHE =S 683,485 558,335 125,150
= 11,772
Al 571,713
XNgNS 307,800 301,826 5,974
101 @124 4] 14,830 13,374 1,456
04 DIt Z22XsSE* 14,830 13,374 1,456
OXNLHXESHAME HDAZEH LHZEA
(66,800 12 «1832! )+(66,800% 1«39 ) 14,830
201 LEt2A | 218,723 217,853 870
01 AtR 22l | 103,680 103,280 400
OXNEAEL DXAM M 27,000
Oget=2ZH| 70,000
OX&A DETEHI 4235 WH 5,000
Oo=2d8=+¢ 1,680
KA S22 70,0003 »12& »23] 1,680
02 3524l 115,043 114,573 470
OXNEHNIXNN SEREZ 96,010
OXgH DETaly SKLE2 4,344
OXZAN A70ls 23t BE= 4,989
OX&Al ARS ZHE YR AIAE KX 24 9,700
202 o4 Hl 16,600 16,600 0
01 SLHOHI 16,600 16,600 0
OolNdad gsAR 40,0002 x10H x 162 6,400
OZA=d ot 4,400
OXNgAM &5 & T NI A
40,0003 x2H 352 2,800
OXSs MHEQ &0t8 st& &It b 3,000
203 AR E= Y| 3,000 3,000 0
03 Al =X Y2 3,000 3,000 0
ONESRAMF 3,000
303 Za= 6,000 6,000 0
01 Z&= 6,000 6,000 0
OXNYgAH = 25+ S8HS ANY 6,000
308 MtXIEHMSOIH 41,147 44,999 AN 3,852
10 371 2S0HUSIA4EAS A S 41,147 44,999 A 3,852
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2AM: HE D

B GRS
SR YWY ES (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OXNLAN HE3AIYE AEHAYI 41,147
405 XtabF SHI 7,500 0 7,500
01 AL 2B F SHI 7,500 0 7,500
OMEB LA W e 2 2,000
O=Z2AD 7Y 5,500
M XA E 38,698 48,521 AN9,823
201 et A | 30,818 27,747 3,071
01 AFR2 2t 2l Yl 17,264 13,460 3,804
OXNEA M X M ™24 5,000
OXNLA MEX MEFEXS AMAEZ 3,960
OXNYAH IELEE A =2 1,500
OJAAHE =2 4,500
OZ2 &l 8,000 *4H 9 x8 & 2,304
02 33249l 13,554 14,287 ANT733
OXYAH AMAE KA B 4,520
X 2Al DA H R AAE X8 2 4,520
OBso AXAAE SXEx 9,034
AUEHE Ho T FAXAIAE A2 4,686
AXAAE DES SN2 H| 3,868
DHY NHAIMH A SRS
40,000& x12& 480
202 04| 7,400 7,400 0
01 2LH 0 HI 7,400 7,400 0
OXNgM 2= dMNEE 7,400
403 XX SH S X =0l H 480 0 480
02 3J2SH S =2 2| &AL B 480 0 480
OMESHUZAAE AHEH 480
Mo =gl 83,062 64,064 18,998
101 @121l 8,016 13,374 AN5,358
04 JI2ZtH 22 XNHEE 8,016 13,374 N5,358
OM2+2 MEgeEs g2 X
(66,8002 x1H 100 )+(66,8002 12 %202 ) 8,016
201 et A | 15,700 17,020 A 1,320
01 AFR2t2ldl 11,740 11,740 0
OM2=2te Let=SH| 1,000
OM2=+ MYX 888 X3 3,960
OAMZI=+g MEX dgE 1,100
OM2#+=2 DXAM HE 70,0003 »408+ A 2,800
O3 2| 8,000 x5H x92 x8 & 2,880
02 332494l 3,960 5,280 A 1,320
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2AM: HE D

HE: GEMES
©e WSS (29 a8)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OM2=g DXNAN sE2EZ
3303 *4,00021 *33] 3,960
202 O4dl 6,200 6,200 0
01 = LHA YI 6,200 6,200 0
OAMe+=2 MEgd+ 2HNEF 4,200
O&x==co 22T & MA=+g AZE 2,000
303 Z& = 4,000 4,000 0
01 Z& = 4,000 4,000 0
ON=g =+ 22H £ F2X A4 4,000
308 XXM S0l A 23,574 23,470 104
10 B3I/ 2SOHUHSZAEEALS I 23,574 23,470 104
OM2=LdZFEAAE X2l 23,574
403 XIS E X201 & 25,572 0 25,572
02 SO 2SO HSHAHE X 2 &AL H 25,572 0 25,572
OXHITH NEAA=LEFEAAH 2= 25,572
HE =0 X A 117,393 143,924 A 26,531
101 @124l 24,716 44,247 219,531
04 JIZHHZ2XNESE S+ 24,716 44,247 A 19,531
OME =LA T AL 24,716
201 L2l 91,077 91,077 0
01 At 2t 2l 91,077 91,077 0
ONg ez ds++2(1.1/6.171F)
137,682,800& *50% 68,842
OFYSHINES 4257
10,000, 000& *50% 5,000
OE2H EEX 7¢ 5,300,000& x50% 2,650
O22H 23 7¢ 200,000& *x10& *50% 1,000
OMEFEIY &F 2BEN BX2Y
1,600,000& *50% 800
OMNE=EIIA AL &9 & 2HEHIZ
6,720,000 *50% 3,360
OREH HATANIY 294+Y
2,800,000 *50% 1,400
OMNEFEDA AR HISHI
200, 0003 15 «50% 1,500
O= 2l 6,300,000 x50% 3,150
OMNgE= 85 T2 RIS
150,000 122 x50% 900
OMEFEUINAXTA AIRA HBHI(SER)
1,650 204 *1502 *50% 2,475
202 oddl 1,600 1,600 0
01 = LH o4 1l 1,600 1,600 0
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2AM: HE D

HE: GEMES
©e WSS (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONEFESH SRXEZAM 20,000 »4H 202! 1,600
HE FEIIATAH(ER) 136,532 0 136,532
= 11,772
Al 24,760
101 14l 54,687 0 54,687
= 29,927
Al 24,760
03 RIAHA2 2R E > 44,800 0 44,800
P EETBIEEIN
(66,800& 2 248 )+(66,800% x2H x522 ) 40,080
= 20,040
Al 20,040
O MM & HI
(Y& A0 2800,000& +4 CH 1,560,000 ) »2H 4,720
04 JIZHHZ2XNHEE S 9,887 0 9,887
O 2019 HE=EItA EL XA 9,887
= 9,887
201 L2l 77,845 0 77,845
= 77,845
01 At 22l 77,845 0 77,845
O NEF=H S =8 67,533
= 67,533
O E20AY| 7,000
= 7,000
O A88 #¢ 3,312
= 3,312
202 4l 4,000 0 4,000
= 4,000
01 S LHOIYI 4,000 0 4,000
O MHE=HEH XXM 4,000
= 4,000
2/ H M A&t 2tel 6,870,430 2,708,100 4,162,330
T &k2t 2| 6,796,680 2,591,206 4,205,474
I3 MHatze 24,300 22,844 1,456
101 @124l 14,830 13,374 1,456
04 JI2ZtHZ22HEE = 14,830 13,374 1,456
OSKRME MEHEAL HREX
(66,8003 12 1832 )+(66,800% x1H +392 ) 14,830
201 Let24d] 3,470 3,470 0
01 At 2teltl 3,470 3,470 0
OSSR Me &2 233 70,0003 »7H *32 1,470
O= 2l 8,000 x5H x50 2,000
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SN WD
S A M A2
SRl T Atz (cho &)
SAH-EB .S (3H) - HEAY - BE2 ﬁlf& HD=2
301 dEtEAZ 6,000 6,000 0
09 HALAHIEA = 6,000 6,000 0
O2HE IIEHA Al 24 6,000
SSE A2 2,372,380 2,368,362 4,018
101 @121l 5,612 5,061 551
04 JI2ZtH22XNHEE =+ 5,612 5,061 551
AHZ2Z2AEE S 5,612
ANEBAMNS SSEA HIEZ&HY
66,8002 *6H *x63] 2,405
ANEBAIS S3EA ZE = 2el
66,800& *8H 63 3,207
29l 993,268 985,801 7,467
29l 993,268 985,801 7,467
=2= 2 HAl 775,268
KNEEA ol 2Hd 221,228
MoleE AISE 49,740
- Al HAL 23,000
- 2|3 HA+ 12,000
- AT AIEAHS 12,000
- )OS HA 2,740
HAF JIIR=2 442,600
- Al A 267,000
- 2|3 HA+ 150,000
- F)EEA 18,000
- )23 H AL 7,600
Ol3| M A HLte HARZ 40,000
INE=PNU. | 3,300
SHFMERE2 6,840
- NS Xt 840
- A2 6,000
HANGHAZIDRLESS 1,000
AAsSx E82 10,560
OAI& &H| X4 153,000
Al E A 120,000
ol A A 33,000
O Xt &Hd| 65,000
206 T 24 22,500 22,500 0
01 & bl 22,500 22,500 0
OM=zHl 22,500
HAZZ JIAHANESS A7 Y
5,000,000& x 14! 5,000
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2AM: HE D
2 ST At2e

SRl T Atz (cho &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
HA2Z Agt Y ASALEESE MHHP2 L
4,000,000 = 1Al 4,000
HAL2e AREFIIEE £ JIEIAMFLY
7,000,000& =14l 7,000
O3] HAZZ JHANESE NP2
2,000,000 =14l 2,000
O3 HAL2E| A2 L HAFANEEE NP
el 1,500,000 = 14! 1,500
O3 EHAI2L A24 HMIISE & JIEH X
7 3,000,000& x14! 3,000
1T AIEHIZ 20| 1,350,000 1,310,000 40,000
01 A& H| 1,336,887 1,293,952 42,935
OFA Ex=Z2A 250,000, 000 *99. 28% 248,200
OFss NIAIHE S5 A
600,000, 000 *99. 28% 595,680
O3 93 dH&asz &1 20,000,000& = 14! 20,000
OANMEAN SSEA ASAE HUZ2A
30,000,000& = 14! 30,000
OAZ A ESS(OIAXI M &RX)A X 2 A
370,000,000& *98.11% 363,007
OolJ Al UPSE X| Z At 30,000,000 =14 30,000
O(AE Al INEAMEH &5 WA
50,000,000 =14 50,000
02 2eldl 6,993 10,000 A 3,007
OAEA ESS(OHIH XM AEEX)E X Z2AH
370,000,000 *1.89% 6,993
03 AlIE 21| 6,120 6,048 72
OFANH L B=ZA 250,000, 000& *0.72% 1,800
OFsts HAAIEE =S=Z A4
600,000, 000& *0.72% 4,320
405 XHA&HF S HI 1,000 45,000 AN 44,000
01 XAt 2 ZFF S| 1,000 45,000 A 44,000
OJIAUDI A Hurek)| ¢l 1,000,000 = 14! 1,000
HARN = 4,400,000 200,000 4,200,000
1T AIEHI YL 20| 4,400,000 200,000 4,200,000
01 Al&H| 4,323,440 200,000 4,123,440
Ostns HE=SXHE A=A
4,400,000,000& x98.26% 4,323,440
02 2teld| 63,800 0 63,800
Ogtns dEEXHME MAEZ2A
4,400,000,000& x1.45% 63,800
03 AlE 201 Y| 12,760 0 12,760
Osns HE=SXHE A=A 12,760
3| H 2el 50,250 73,624 N23,374
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SA: HWED
2 ST At2e
= I I e

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
A2 E 50,250 73,624 N23,374
201 £B-2d| 47,000 57,000 A 10,000
01 At 22l 47,000 57,000 A 10,000
OZLZAL 28+ 100,000& 5% «20 10,000
OZNN % HRNT o
50,0003 23 1205 12,000
OMPEIN B4 U AE 222
8,000,000& 23| 16,000
OZ&ZAdAN & XEAEXIZD 214
20,000 »22 1005 4,000
OZ4h HetEd selA 2 20,0003 100 2,000
OAMZoler et & Za S =] 3,000
202 Oddl 1,000 1,000 0
01 = LH 4 1 1,000 1,000 0
OMEFHZ & Ziae & AR 2 1,000
301 et a3z 1,500 1,500 0
09 &AL HIZB &S 1,500 1,500 0
OZ 4 A& =0 300,000& x5& *13] 1,500
307 gl2tol & 750 750 0
12 QIO & S| 750 750 0
OUAASR SRS L8
150,000& x5 * 12 750
Hiek2te] 23,500 43,270 A19,770
Heratel 29 23,500 43,270 A19,770
201 et 23,500 29,896 A6,396
01 At 2teltl 7,900 14,296 A 6,396
OAAMoAASE 2= 70,000 +10H+73] 4,900
OAAHRF=A S 2] 3,000
02 2324l 15,600 15,600 0
OA2elZ=2 08 |SXNE2  550,000& 128 6,600
OGHAHZ AL CHAH SHLHAIAE! |SXIE =
350,000& 128 4,200
O2Z2el(RFID HEXAHAIAE SXE S
400,000& 123 4,800
HY2FZH (A D) 61,720 61,720 0
Jl2ZH (&) 61,720 61,720 0
JI2ZH(HE 1) 61,720 61,720 0
201 Let24d] 8,000 8,000 0
01 At 22l 8,000 8,000 0
Oz 2| 8,000




<

n0

Kio

Hl w

H3r
Wikd
RIS

48,200
48,200

5,520

Off &t 24

48,200
48,200
48,200

5,520

HE

2N

01 =LHOI I

202 Oddl

Kl
K
oF

OMEMN &

Kl
Kk
ok
ol

5,520 5,520

5,520
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